Algebra 2 Ch 3 Review Name: [/ .

For all problems solve over the complex numbers (a + bi). Simplify all answers when
possible for full credit.

RK is required and graded. List r answer arately a istinct answers.
1. Solve by factoring: x> — 9x — 36 = 0 1. x= 3
(x +3XX-22)=0
e
X+320 x<22/X
X=-3
R
2. Solve by using square roots: 100x% — 56 = 0 S 2. x= e
. I A
100x = = St ¢ 14 I
- U
x* = 2% {'2 %
> oo 2 X=
LS (E—E:i—lr,q— t E
A== 7o o - 8
3. Solve using any method: x> + 18x + 81 = 16 8. x= -3
ﬁcur;;pi X8 +81=16 ) e =il
e+ YDl X +I8x+€5 =0 =15

(x+9) =lb (x 88X+ 13)=0
xr9=24 8 X>-§ Xx=-/3
X=-914:% _5 4% —

4. Solve using any method: 6x2—13x—8=0 r:\_sf-w& 4, x= 2z
(ox +3 gk - 1) 3 fut=-0 -
x TN g3 ) 3
X= >

(ax+) (3x=%)=0
ax¢lz=o 3x=% )
ax=-| x=4&3 g 11
X= /1 5. x= 1D

5. Solve using any method: 100x>+ 9 =0

st 3
loox * = -9 i,
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a=6 b=72 C=5

6. Solve using the quadratic Formula:

6x2+2x+5=0

A :Lz——“lDLC A= —biﬁ
[\l, " L{ Y oo
z/\s? = (2) -Y(e)(sD ﬁ—a:tm
ALQ = 4 - (20 - 2CL)
C = =l - =2+ Ll

1

7. IfA = 8 — 6i and B = 10 — 20i find the following:

a.A+B .
S—lec ¥ 10 -200
1% -2k

E'e(’éc.c)éz;oioi)

—

]

= —4p -0 ¢

Hr
-1 4 N
6. x=__ 1 d
R4

=__,___-—/' Iy 12

W =_~40-22 ¢

$0 ~l(;oL-(uDL, +|7-O‘LL€~ LL:— -}
80 <20, ¢ - 130

\LO-LL'; -]20

8. Write the quadratic equation in its factored form: 4)q2 —-8x =21

(g +& e -14 )
2 2. y = v 7

(ax+x)(2x—%)

g xr3)(9»)6~?)
c= -89
W e=-g

9. Determine the DISCRIMINANT and state the type (imaginary or real) and number of
solutions the quadratic equation: 6x>+4x —8 =0

2 A: bL—LLac-
24
z = (4)*-4Cu)(-8)
M i (eet) = 16 + 192

07

height of the ball?

9. Discriminant(A) = A08

Type and number of solutions:

> Recd Sol-

light from the ground can be modeled by the

there h(t) represents the height (in feet) of the ball t
te for the golf ball to land? (Round to the nearest

10.t= 4.V %condls

Initial height = 100 JC {
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